Trade : Tourism and Hospitality							
Sr. No.	Name of Equipment	Specification	Images of Tool and Equipment	Quantity	Approx Price Per Unit	Total	
1	Restaurant Table	Rectangle 4 ½ ft x 2 ½ ft for 4 persons	ŢŢ	1	4500	4500	
2	Restaurant Chair	Height from ground to base 18" Height from ground to top of back rest 39" Size of base or seat 18"x18"		4	2000	8000	
3	Side board or Side station	A piece of dining room furniture used by wait staff to hold all items needed for table service. It has open shelves, drawers, and compartments to store flatware, cutlery, glassware, plates, sauces, bread baskets, and linens.		1	12000	12000	
4	crockery stand	For display all types of cockery tableware and glassware		1	8000	8000	
5	Cutting table	A concrete, steel or ceramic tiles, cutting tables are designed to facilitate cutting operations		1	5000	5000	
6	Lobby Stand	The offered board is ideal for hotels and restaurants as it is used for displaying welcome notes		1	3000	3000	
7	Room Key Rack	Wooden 4 feet by 2.5 feet for showing room occpency		1	3000	3000	
8	Food Service Trolley	Stainless steel for service in room		1	3500	3500	
9	Almirah for storing all Equipments	Front Glass and steel from all sides (6'6" by 4 feet)		1	8500	8500	
10	Chefing dish	Stain less steal with lid for buffen service		4	2500	10000	
11	Table for buffet setup	Rectangle 3 feet by 6 feet	PTPI	2	3500	7000	
12	Frill	12feet 3 feet (equal to the size of 3 tables)		1	800	800	
13	Buffet table cloth	White Cotton 3 feet by 6 feet	*	4	400	1600	
14	Full Plate	10-11 inches in diameter, Bone China (White coloured Good Quality Preferably Bharat brand)		36	100	3600	
15	Bowl for daal and curd	Ceramic		72	40	2880	
16	Quarter Plate	Bone China 6 inches in diameter (White coloured Good Quality Preferably Bharat brand)		36	70	2520	
17	Salver	Stainless stell or anti skid round in shape for service		4	250	1000	
18	Entrée dish Oval	Stainless stell Oval in shape for serving ala carte men	Automa Danhama S	2	400	800	
19	Entrée Dish Round	Stainless stell round in shape for serving ala carte men		4	300	1200	
20	Rice Platter	Stainless Steel (Premium Heavy Commercial Quality)		2	400	800	
21	Salad Platter	Stainless Steel (Premium Heavy Commercial Quality)		1	400	400	
22	Rice Spatula	Stainless Steel (Premium Heavy Commercial Quality)	2	2	100	200	

23	Serving Laddle	Stainless Steel (Premium Heavy Commercial Quality)		6	50	300
24	Bread Tong	Stainless Steel (Premium Heavy Commercial Quality)		4	100	400
25	Bread Basket	Stainless Steel or wooden	80	4	200	800
26	Water Jug	Steel commercial quality		2	300	600
27	Culnery Stand	Stainless steal or wooden	A A A A A A A A A A A A A A A A A A A	1	2000	2000
28	Cake Stand	Wooden or cover with dome for display cake		1	1200	1200
29	Tissue Napkin Stand	Stainless Steel	·····	2	100	200
30	Table Cloth	White colour Pure cotton (Size should 6 inches larger than square table from all the sides) 46 inches by 46 inches		4	150	600
31	Baize Cloth	Cloth which lay upon table cloth		8	100	800
32	Table Mat	Plastic		8	50	400
33	Bud Vase	Steel		2	100	200
34	Cruet Set	Stainless Steel or ceremic		2	150	300
35	Menu book	It should be printed like book	Rina	4	200	800
36	Spoon	Stainless Steel (Premium Heavy Commercial Quality)		72	25	1800
37	Fork	Stainless Steel (Premium Heavy Commercial Quality)		12	25	300
38	Sweet Spoon	Stainless Steel (Premium Heavy Commercial Quality)		12	25	300
39	Butter Knife	Stainless Steel (Premium Heavy Commercial Quality)		12	25	300
40	Tea Cup & Saucer Set	Bone China (White coloured Good Quality Preferably Bharat brand)	9	24	100	2400
41	Tea Pot	Bone China (White coloured Good Quality Preferably Bharat brand)		2	300	600
42	Creamer	Bone China (White coloured Good Quality Preferably Bharat brand)		2	200	400
43	Sugar Pot	Bone China (White coloured Good Quality Preferably Bharat brand)		2	100	200
44	Sugar Tong	Stainless Steel	Ŷ	2	100	200
45	Water Goblet	Premium High quality Commercial Quality Preferably Ocean Thailand		6	120	720

46	Hi Ball Glass	Premium High quality Commercial Quality Preferably Ocean Thailand		6	120	720
47	Pilsoner Glass	Premium High quality Commercial Quality Preferably Ocean Thailand		6	120	720
48	Colin Glass	Premium High quality Commercial Quality Preferably Ocean Thailand		6	120	720
49	Juice Glass	Premium High quality Commercial Quality Preferably Ocean Thailand		6	100	600
50	Chopping Board	Wooden	9.	1	350	350
51	Knife set	stainless steal or wooden	PIT	1	300	300
52	Bottle Opener	Steel	L'IN AL	1	100	100
53	Note Pad	Note Pad	huuman	13	10	130
54	Bill Folder	Bill Folder		2	60	120
55	Buffet Laddles	Steel	awk <u>Kany</u>	6	120	720
56	Straw Holder	Steel		2	50	100
57	Tooh Pick Holder	Steel		2	50	100
58	Steward Uniform	Black trouser, white shirt, Bow, Waste coat, Oxford shoes		2	1000	2000
59	Paging Board	Wooden		2	250	500
60	Finger bowl with underliner	High quality stainless steel		8	150	1200
61	Bar tool kit	With all essential equipments of bar	<u>jav</u>	1	3000	3000
62	Different colour coded dustbins	Dustbin with lid and pedal operation	C In	2	500	1000
63	Wiping cloth	Wiping cloth		4	100	400
64	Induction Cook Top	Induction cooktop with 2000 wattfor making light snacks		1	3000	3000
65	Induction pan	Cermic plated with 12inch diameter	0	1	1000	1000
66	Hotel Sign Board	Wooden or stainless steal like wet floor reserved check in or heck out close or open ec		6	200	1200
67	Hotel Reservation or KOT software Kitchen order	Software for order taking or room bookin service		1	15000	15000
	•		1		1	1

68	Ashtay	for handel smoked person A wooden piece of like bowl with metel layer		1	300	300
69	Beverage Service Tray set	Stainless steal or wooden		2	500	1000
70	Dish storage Cart	The trolleys are made of plastic or stainless steel, some with variable compartments, so that plates with different diameters can be transported safely.		1	3500	3500
71	French Laungage learning books	books for learn basic frech words	Basic French	1	500	500
72	foot items or servce photogrphs	for decorationsitmay be plastic or glass pics with frames		10	200	2000
73	Outdoor camera	Day/Night vision outdoor bullet camera with warranty		1	2500	2500
74	Indoor Dome Camera	2MP Full HD Smart Wi-Fi CCTV Home Security Camera, 360° with Pan Tilt, View & Talk, SD Card (Upto 128 GB), IR Distance 10mtr, infrared LEDs and night-vision technology, Wireless		2	2000	4000
75	Digital Video Recorder	Branded 1080P Full HD 8 Channel Digital Video Recorder. with warranty		1	5000	5000
76	Hard Disk	Branded internal hard disk with 1TB memory under warranty		1	3000	3000
77	Wire	Branded 3+1 Coaxial Pure Copper CCTV Camera Cable (90 Meter) with warranty		1	1500	1500
78	Almirah	2 Door Mild Steel Office Almirah with inbuilt shelves (5ft *3ft)		1	8000	8000
79	Student Chair	Pvc shell backrest having powder coated finishing with mild steel frame		40	700	28000
80	Fire Extinguisher (5 KG ABC type)	Carbon steel ABC dry powder type (5 Kg)		1	1500	1500
81	Smoke Detectors	Power source - Battery, Color - White, Weight - 220 g, Sensor type - ionization		2	800	1600
82	LED Monitor	Branded 53.5 - 55.5 CM Liquid Crystal Display LED Panel or Monitors (21.5 inch (54.61 cm) IPS LED Backlit Computer Monitor - Full HD) - with warranty		1	7500	7500
83	Wired Branded Keyboard Mouse Kit	USB (Full Size) Wired Keyboard & Mouse Combo(Black) with numeric keys.Compatible with latest window version - with warranty		1	1000	1000
84	CPU (Central Processing Unit)	12th Gen Intel Core i5-8GB RAM/1 TB HDD/Windows11/MS Office 2021/Integrated Intel UHD Graphics/WiFi 5/Bluetooth 5.0 (with 3 years warranty)	191	1	40000	40000
85	White Board	Whiteboard Drywipe Magnetic with Pen Tray and Aluminium Trim Dimensions: 6 ft x 4 ft		1	2000	2000
					Total	250000